Syn'lbOl [\ [0 J RE — 1031'KoP

SEE 2081 (2025)
frard e

9RY : 3 " qUITSeF © 4

REqaT R ST STt ST Riviareqs gav faqeig

T IYAE® Afaard &1 | (Answer all the questions.)

L

360 w7 faemdieear THEAT WELIVT TRT 100 T aTEbead @ HIA 7
WSS | 60 AT e @« AT A9 GO9S 7 100 T4 g4 GAwer
% I T RIGEAA |

In a survey of a group of 360 students, 100 students like basketball
game only, 60 like cricket game only and 100 do not like any of the two

' games.

(@) 3fE 'B'T'C' S HHM: qrebead { ffbe @ A WA [qamdiz=a
T SSea W9 n(BUC) #1 A F §75 ? Teterd |
If 'B' and 'C' denote the set of students who like basketball and
cricket game respectively, then what is the value of nm)?

Write it. (D
(b) wiiaer qaers W FeemT SRqa TR |

Present the above information in a venn-diagram. (1)
(c) T &« 79 e faendiessr q@m Iur SAmSere |

Find the number of students who like both the games. (3)

(d) afe <rdr 9o B FEAT TET HA G AT T AWHCHT Fae
frhe @9 A9 WRIC'T A JUTEd IS4l WA BIIAT U9l @ A
W& faardiessr ag@n Fia giiadr ? Iar anserd |
If everyone who is not interested in any game liked cricket game in
the second survey and found others to be same then, what would be
the number of students who like at least one game? Find it. (1)

TAFTS THET 2 JUST AT 10% JTURI AT gl 3.10,000 FT9er

faug T @fay 9T 91 W GH 99T 3 96 ST o)1 AIe I

TSTAT YATHATS QI9eT AU |
Rajan borrowed a loan of Rs.10,000 from Ram for 2 years at the rate of
10% simple interest. Immediately, Rajan lent the same sum for same
time and same rate of interest compounded annually to Shyam.
(a) BT I=IIER, 2 FUBT ATA] g4 WYURY AT T Ashld A
W FA AL §E ! AEEr |
According to the given context, which interest is more among
simple interest and compound interest for 2 years? Write it. (1)
FHH
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(b) TSl I FRIAAT 2 TUAT i HIFET 91T ? TAT AMS Aol |

How much profit did Rajan get during the transaction of 2 years?

Find it. 2)
(c) - TfE oS IFT W Adaiiie Ty ereeAr 9radr feuar wo 99

' Hia = e & o 7 g ameE |

How much more interest should Shyam need to pay. to Rajan if

Rajan had lent the amount at semi-annual compound interest? Find

it. (2)
T MSH TR TG 20,000 B | S MILHAT AMF 2% B A
TaSE 3 T |

The population of a village is 20,000. The population increases by 2%
annually in the village.
- (a) 3T W SEELEN P, wW9gEn Jigex R gfaad ¥ T aqufer
TA9S@l Py WU, Py 9T @79 qF deery |
If the initial population is P, growth rate is R per annum and
population after T years is Pt then write the formula to find P1.(1)
(b) i Fuufe & TP TAEIET 20,808 [H ? TN AMS TR |
After how many years the population of the village will be
20,808 ? Find it. (2)
() uﬁﬁwmmaﬁmqﬁmmzﬁm@rm
TSR Hia 9¢a ? IAT aMgdard |
If the population increases at the rate of 3% per annum, by what
number will the population of the village be increased in 2 years?
Find it. - (1)
o fafras ReEr & R | a{ﬁ&aﬁ’rema?ra&?aﬁw 136.13
¥ fasreT 7.3, 137.25 e
According to the currency exchange rate, the buying rate of
1 American dollar was NRs. 136.13 and selling rate was NRs. 137.25
in a certain day.

(a)amﬁmaﬁmmmmmzmmm@

AT g5, 7 defery | :
Which rate buying or selling is used when you exchange American
dollar into Nepali rupees? Write it. (1

(b)mﬁa%qﬁzmlooommmﬁwmw’w
AMSET |

How many Nepali rupees can American tourist get by. exchanging
1000 dollars? Find it. : (1)
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(c)maﬁﬁa?rqﬂmmm%mmsnsowmm

YT 2T Gibar qfdhr THHB Hid FAARST SO Teal T THRS !
Il SR |

The American tourist spent NRs. 1,01,817.50 while staying in

~Nepal, how many American dollars can he/she exchange from

remaining Nepalese rupees, while returning back to own country?
Find it. (2)

o3 famdiesar aqEd AuR Yo @FE 24 FeR T IIEr 99
5 e U@ TIET SR ATUR NTH RIS ATHRe! & a10a |

A group of students constructed a square based pyramid shaped tent
having length of base side 24 meter and vertical height 5 meter.

(a)

(b)
(©)

T IR AE frifhewr sfaeier Brmer aages @A 7

|
How many triangular surfaces are there in the square based

pyramid? Write it. | (1)
I WIS FHR ATIR R ehl S8 A3 gl AMI{ard |
Find the slant height of the above square based tent. (1)

PR Faeeedr Iia a7 e %.125 F SR FIST TSN STHAT
Hfq @ A7 7 T S qerd |

What is the total cost of cloths required to make triangular
surfaces at the rate of Rs.125 per square metre? Find it. (2)

feguar -faar aRER AR

OHF FEH  FeAr T e 1 2im
TERTH G | ‘ .
In the given figure, wooden l

cylinder and cone having -

equal base are shown.

(a)

®)

(©)

TS AT gl TS A deferd |

Write the formula to find the volume of a cone. - (D)
TEIRUHT TREEHT Il ATEAT Iall TSR | '

Find the volume of the cone in the given objects. )
feguar emran feguar Tefl TR WITHT, IHT ST FSH AATH

Fiq affr g7 A9 7 I TS |
If given wooden cylinder is drilled out in the given conical shape,
what will be the volume of remaining wood in cylinder? Find it. (2)
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uger yatesr awrg 10 By, =verg 0.5 fr T 9= 2 ML 3 9w gare
FaTaq 25 4P X 12 3P X 8 Af. AU S FATT ARUH B |

1 T e — W AR AR A B

The length of a wall is 10 m, width is 0.5 m and height is 2 m. Bricks
6f size 25 cm X 12 cm X 8 cm are used to build thc wall. Also, ;15 part
of the wall is occupied by the clay joints.

(a) | TE TS FHiTHET FeTeE dlferar] ! Al AITerY |
How many bricks are required to construct the wall? Find it. (3)
(b) ST 1000 ST YT %.14,500 F X N T@I AAGT A 2@ @
A TR |
Estimate the cost of bricks used in the wall at the rate of
Rs. 14500 per 1000 bricks. | (D

A TS fo aferee femepr weat ek W@ H F(ET T T 7 ferae
TS FEFAAT T a9 o | STHIER S99 giewr fa €. 10, T
far %.20, Tt R 7. 40 T 7 o fema e awd ¥ @ v e |
Ramesh deposits the amount in a co-operative for 7 days by increasing
the amount every day double than the previous day. He deposited
Rs. 10 on the first day, Rs. 20 on the second day, Rs. 40 on the third
day and so on till the 7" day. | |

(a) WIS T ITAR AT TRHT FFAATE a1 A T TFRS! TG 7
ety |

What type of series is formed from the deposit amount according

'to above context? Write it. (D
(b) 7 FaeehT AAEEAT A T DA TR TS ! G T T o
AT |

How much amount will Ramesh deposit by the end of 7 days?

Find it using formula. . (2)
(c) afz 7o 4 femerm o U@ @ wfed | @@ W 7 R

YAl IAA FA W WA LS ! T TSR |

If Ramesh withdraws the amount deposited by 4 days, how much

will he receive at the.end of the 7" days? Find it. )



9\

10,

11.

(X)

T 40 B @ 8 T wEer fawur A
T 40 BT, 9@ | b d
The longer side of a rectangular field is 40 m
more than the shorter side and its diagonal is ‘Nm
40 m more than its longer side. — ] —
(a) wiyswr = FER St @ = ()

eTg (b) ¥ el (o) Forerer ey St |

Write the relation among the length (/), breadth (b) and diagonal

(d) of the field according to the above context. (1
(b) ATTATER ATHADI BIET HAT T ATH {ATHI T8 qaT TSI |

Find the length of the shorter SIdc and longer side of the

rectangular filed. (2)

(c) % AgardR witwaar 30 M. x 20 . Amqer sfuwaw wfq e
ST THES TR T4 Alebea, ? I TSR |

How many maximum numbers of plots of size 30 m X 20 m can be

RE - 1031'KoP

U

made from the rectangular filed? Find it. (2)
‘ . . p+tq q+r r+p-
a) I« Simplify): - ——— 2
(@) ¥ TR (Simplify): ot = == @)
(b) &« eI (Solve): 3V +37 = 9% | 3)

fegaar fe@m AABC ¥ ABCD TS¢ 3R BCX P

JET FHAT=R [@e® AD ¥ BC fa=r @ & |

fag B @e @1 AC- AT 9 BP fafaa g |

In the given figure, AABC and ABCD are | / >
standing on same base BC and between same

parallel lines AD arid BC. From the point B,a B > .

perpendicular BP is drawn to the line AC.
(a) feguar Feraar ABAD 1 SR aXTa) g PAforel A Segery |

Write the name of triangle whose area is equal to area of ABAD in

the given figure. (D
(b) afe AC=9&fw. T BP =63 meCDﬁWW
AR |

If AC =9 cm and BP = 6 cm, find the area of lripngle BCD. (2)
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(c) Fzwmr Pawr PQRS wSar weH  p > Q
=st & 1| 58 PQISR & | W d M T N
FHa fawvies PR T QS &1 wurfaes
&1 M AMSR = ANSR &3 Wt ynfira
|
In the given figure, PQRS is a . R
trapezium, where PQIISR. M and N are the mid points of the
- diagonals PR and QS respectively. Prove that: AMSR = ANSR. (2)

P PQR W1 £PQR = 60°, QR = 8 &.F1. T PQ =6 ¥.fr. Fargwent & |
In a triangle PQR, ZPQR = 60°, QR =8 cm and PQ = 6 cm are given.
(a) WRMET ANHTERS APQR # A TR T IF Prgaa
QTR TREX g T TSN A14d RITA &1 9f =T @ |
Construct a APQR according to above measurements and also
construct a rectangle RITA equal in area to the triangle. 3)
(b) THY FAHT PGS T AP SFE [T SRIER g8 ? FRY deTery |

Why the areas of triangle and rectangle so formed are equal? Write

reason. (l)
ST gaF F=iag O § | IRiUST ®veE PAQT A B
PBQ@%WPQmmuT&aml

O is the centre of the given circle. Inscribed angles
PAQ and PBQ are standing on the same arc PQ. .
(a)qﬁﬁrWPAQTPBQmW

e | P Q
Write the relation between the circumference
angles PAQ and PBQ. (1)

(b) AR F=F FT POQ & AT (12x + 4)° T Rkfur a?rur PAQ &I 7Y
(3x +20)° B A x BT A Fepreary |
If the measures of central angle POQ is (12x + 4)° and the
measures of inscribed angle PAQ is (3x + 20)°, find the value of x.
(D
(c) UIE ATTHT IHEl Beild BV RN DD ek 76 WA TATTERT
fag TR | (e 3 A fw waﬁﬂmﬁﬁamw
a1
Verify experimentally that central angle is double of the inscribed
angle formed on same arc. (Two circles having radii more than 3
cm are necessary.) (2)

AT
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CD # I91% 4.5 fe? & 1| BC & T T W
fer=ral 3 SAIEH |
In the given figure, height of the tower AB is L D
24.5 meter and height of a house CD is 4.5 meter. B
BC denotes the distance between tower and house.
(a) SN FvErs qfonfie THER B AC
Define the angle of elevation. (1)
(b) AE & W9 W1 dSTard |
Find the value of AE. (1)
(c) 3aft LADE= 30°WWIWW§&WWW|
If ZADE = 30° find the distance between the tower and the house.(1)
(d) AEX EDWWWWWWWWmW
&8 7 qEAT TR |
By how many degrees is the angle of elevation less or more when
AE and ED are equal? Compare it. (1)
75 qUIEHE! TRTARr TSl qhemH Frmdleee W TRET AgF qen
GUEEICIBEELe = S
The marks obtained by the students in an exam of mathematics of 75 full
marks are given in the following table.
yT<iTg® (Obtained Marks) 0-15 |15-30 |30-45 |45-60 |60-75
faamdt I=Ear (Number of students) 2 5 4 6 3
(a) WMGE TATEHATE {a T A0 Joord Tere |
Illustrate the modal class from the above data. (1)
(b) aT aifeerTare At Heaeger |
Find the median from the above table. - (2)
(c) WIger afdFEe RAE Tal TSR |
Find the mean from the above table. (2)
(d) @ wherar gearlt fandt agemmer fda S w1 aeel JiR
i gfaea faandt @S ? 9ar amSRe |
Among all the participants in the exam, what percentage of students
obtained marks below the model class? Find it. (D
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16. TS ITHHAT 6 31T JaT T 10 AT Frem I T I¥ aeles o | g5 At
qoes THITE JB T G T PRfETs &7 |
A box contains 6 white and 10 black balls of same shape and size. Two
balls are drawn at random one after another with replacement.

(a)

(b)
(c)
(d)

e A T B FEaier e ueAew WU gvAeraral e fagd
I .

If A and B are two independent events, write the multiplication law
of probability. (1)
I RN TRUTHEE®! FATeaTaTs et TasTEe |

Show the probability of all the possible outcomes in a tree diagram. (2)

T I Sel GH I FRITIAr Il S Terd |
Find the probability of getting both balls of same color. (1
T3 I BXh BN I GRATHTT, T4 O AT TS 9 FrATAT q=T

Hfqd & 91 9 g ? Il TS |

By how much the the probability of getting both balls of different
color is less or more than probability of getting both balls of white
color? Find it. (1)

-0-
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